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CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY
(HINGLISH)

ALKENES AND ALKYNES I

Solved Problem

1. Write a mechanism that explains the

following reaction


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DWFJMfnI9rRC

° View Text Solution

2. Write a mechanism that will explain the

course of the following reaction

e OX*

° View Text Solution



https://dl.doubtnut.com/l/_DWFJMfnI9rRC
https://dl.doubtnut.com/l/_13cm5Fg8JX5S

3. Outline a method for carrying out the

following conversion .

— _ . S~ -1
/e T\

1 P loews e d vl I- Pveoy betlamasl

o View Text Solution

4. Explain the following facts : Treating (2) -2-
butene withOsO4 in pyridine and then
NaHSOs3 in water give a diol that is optically
inactive and cannot be resolved Treating (E) -2-

butene with the same reagents gives a diol


https://dl.doubtnut.com/l/_UadsUjr5BN4a
https://dl.doubtnut.com/l/_wbtfctsd5pGr

that is optically inactive but can be resolved

into enantiomers.

° View Text Solution

5. An unknown alkene with the formula CyHg
was found , on oxidation with hot basic
permanganate , to yield a three-carbon
carboxylic acid (propanoic acid) and a five -
carbon carboxylic acid (pentanoic acid). What

was the structure of this alkene ?

L) (0
{1y KS%lmd, R
C.H _ "_1_“ o el . J' . [
LTI 0OH = HOY

Prospanisic acid Pemlamasbe scid


https://dl.doubtnut.com/l/_wbtfctsd5pGr
https://dl.doubtnut.com/l/_oWGlu585POCn

° View Text Solution

6. Give the structure of an unknown alkene
with the formula C;H;y that undergoes
ozonolysis to yield, after acidification , only the

following product :

TR s el O

CHy ;::__;L )\/\/\r”

O

o View Text Solution



https://dl.doubtnut.com/l/_oWGlu585POCn
https://dl.doubtnut.com/l/_Kfe38YGjJRTE

7. Give the reaction for the ozonolysis of the

following reactant

||“H1

| I .-r"'['h':- ._.-"l-lJHll

C,H,

o View Text Solution



https://dl.doubtnut.com/l/_5FB0UEKrNFUB

8. Give the reaction for the ozonolysis of the

following reactant
C,H,~CH

— CH,
LE or £)
iH,

o View Text Solution

9. Give the reaction for the ozonolysis of the

following reactant


https://dl.doubtnut.com/l/_Uf4UkyOMrhjT
https://dl.doubtnut.com/l/_J2QwmctTmm9m

o View Text Solution

10. Give the reaction for the ozonolysis of the

following reactant


https://dl.doubtnut.com/l/_J2QwmctTmm9m
https://dl.doubtnut.com/l/_Y5unwS5sFIfZ

H

o View Text Solution

11. Give the reaction for the ozonolysis of the

following reactant


https://dl.doubtnut.com/l/_Y5unwS5sFIfZ
https://dl.doubtnut.com/l/_yHUS5PjHYsUo

H.L CH,

H

H, O

o View Text Solution

12. Give the reaction for the ozonolysis of the

following reactant


https://dl.doubtnut.com/l/_yHUS5PjHYsUo
https://dl.doubtnut.com/l/_naG7IdlShnyH

° View Text Solution

13. Give the reaction for the ozonolysis of the

following reactant


https://dl.doubtnut.com/l/_naG7IdlShnyH
https://dl.doubtnut.com/l/_EnLX7NVmH5If

° View Text Solution

14. Give the reaction for the ozonolysis of the

following reactant


https://dl.doubtnut.com/l/_EnLX7NVmH5If
https://dl.doubtnut.com/l/_DqLpX7mi9Rqz

° View Text Solution

15. Give the reaction for the ozonolysis of the

following reactant

CH; — CH = C = CH — CHj,

I ° View Text Solution


https://dl.doubtnut.com/l/_DqLpX7mi9Rqz
https://dl.doubtnut.com/l/_dDItSmNaipGw

16. Give the reaction for the ozonolysis of the

following reactant

[]
CH,

{ o Kylene )

o View Text Solution



https://dl.doubtnut.com/l/_dDItSmNaipGw
https://dl.doubtnut.com/l/_vmrYJRx3a1gf

17. Starting with compounds of two carbon
atoms or fewer , outline a stereospecific

synthesis of meso -3,4 - dibromohexane .

o View Text Solution

18. Consider the reaction of an alkene with HBr.

Write the mechanism of the reaction.

° View Text Solution



https://dl.doubtnut.com/l/_NCrEXgwrv5rL
https://dl.doubtnut.com/l/_ZiO8qFm5H4bq

19. Consider the reaction of an alkene with HBr.
Why do the m-bond electrons attack the

hydrogen end of HBr ?

o View Text Solution

20. Consider the reaction of an alkene with
HBr.

Briefly explain why the addition of HBr gives
the product as shown instead of a primary

alkyl halide.

| & I


https://dl.doubtnut.com/l/_qPUPlUTvOFYi
https://dl.doubtnut.com/l/_DaEOSfz2CkgK

| ¥ View Text Solution |

21. Give the structures of product A and B and

write the mechanism for the formation of each

&2

o View Text Solution

22. Should an alkyne react with HBr in the
same manner as an alkene ? Briefly explain why

or why not.

o View Text Solution



https://dl.doubtnut.com/l/_DaEOSfz2CkgK
https://dl.doubtnut.com/l/_HEs3vN1fJbAI
https://dl.doubtnut.com/l/_reTsIq3Hdqd8

23. Consider the reaction of a non-conjugated
diene with aqueous sulfuric acid :
Give the major product for the reaction and

provide a detailed mechanism for the reaction

o View Text Solution

24. Consider the reaction of a non-conjugated

diene with aqueous sulfuric acid :


https://dl.doubtnut.com/l/_reTsIq3Hdqd8
https://dl.doubtnut.com/l/_WkUs9T8tUAsg
https://dl.doubtnut.com/l/_UFOfNPRnvRzs

Give the products if a second equivalent of

H50 is added.

° View Text Solution

25. Consider the reaction of a non-conjugated
diene with aqueous sulfuric acid :

What happens if no acid catalyst is added ?

° View Text Solution



https://dl.doubtnut.com/l/_UFOfNPRnvRzs
https://dl.doubtnut.com/l/_Ln2yigxHjOq2

26. Show how the following transformations
may be carried out ? Include your

retrosynthetic reasoning ?

o View Text Solution

27. Consider the following reaction :
e
(a) Write the mechanism for this reaction.

(b) Draw the transition state for the rate

determining step of this reaction.


https://dl.doubtnut.com/l/_aclEmjnZSBI0
https://dl.doubtnut.com/l/_Mbq4hqn4Q9Jg

(c)Briefly explain the choice for the rate
determining step.

(d) Write reaction that is clearly faster than
the reaction shown above.

(e) Briefly explain why this reaction is faster.

o View Text Solution

28. Convert the following o

o View Text Solution



https://dl.doubtnut.com/l/_Mbq4hqn4Q9Jg
https://dl.doubtnut.com/l/_evJaS0GjmYBb

29. Consider the following reaction :
e
Write a detailed curved arrow mechanism that

shows how the major product is formed.

o View Text Solution

30. Consider the following reaction :
L&
Briefly explain why this isomer, instead of

others, is formed.

| & I


https://dl.doubtnut.com/l/_YR6YBD0QSwU4
https://dl.doubtnut.com/l/_q3uohpCUGYvM

| ¥ View Text Solution |

31. Convert the following o

o View Text Solution

32. Consider the following reaction :
o
Provide a complete curved arrow mechanism

that shows how the major product is formed.

o View Text Solution



https://dl.doubtnut.com/l/_q3uohpCUGYvM
https://dl.doubtnut.com/l/_TI7hZvHcXsTx
https://dl.doubtnut.com/l/_rrNzdAv53UZ4

33. Consider the following reaction :
o

Briefly explain the choice of the major product.

o View Text Solution

34. Convert the following P

o View Text Solution



https://dl.doubtnut.com/l/_kCSrjBHzRxCg
https://dl.doubtnut.com/l/_tjNqlajRqzUx

35. Consider the following reaction.

.

(a) Identify the major product of this reaction.
(b) Write a detailed mechanism showing how
the major product is formed.

(c) Clearly explain your choice of major
product.

(d) Write a reaction that is similar to the one

shown above, but obviously occurs at a faster

rate. Support your reasoning.

o View Text Solution



https://dl.doubtnut.com/l/_2Q6P15CL4Cl9

36. Convert the following e

o View Text Solution

37. Consider reactions (E)- (G) :

Lo

(@) Which reaction is the fastest ? Briefly
explain.

(b)

What is the major product of the fastest

reaction ? Briefly explain.


https://dl.doubtnut.com/l/_2nvVohKpVE69
https://dl.doubtnut.com/l/_6rRiLUfmcssG

(c) Write a detailed curved arrow mechanism
that shows how the major product is formed.
Write "rds" above the arrow in the rate
determining step of the mechanism.

(d) Provide an explanation for the choice of

the rate determining step.

o View Text Solution

38. Convert the following


https://dl.doubtnut.com/l/_6rRiLUfmcssG
https://dl.doubtnut.com/l/_uVkrmSlsJGGI

There may be more thane one solution to each

synthesis .

° View Text Solution

39. For each reactant given below, categorize
its reaction with a C=C 7w bond as "electrophilic

addition" or "other ". Write the reaction of
each reactant with isobutylene, and any other
reagents commonly used or required with that

reactant.

L

| e |


https://dl.doubtnut.com/l/_uVkrmSlsJGGI
https://dl.doubtnut.com/l/_CbCxUb5a6OH3

& View Text Solution I

40. Draw a complete curved arrow mechanism
that shows how the major product is formed
in the raction given below. Briefly explain the

choice of the major product.

L&

° View Text Solution

41. Write a detailed mechanism for the

following reactions Be sure that your


https://dl.doubtnut.com/l/_CbCxUb5a6OH3
https://dl.doubtnut.com/l/_lxEmTqgZzrF5
https://dl.doubtnut.com/l/_9WVhQkfKGxmg

mechanisms account for the given product .

&2

° View Text Solution

42. Write a detailed mechanism for the
following reactions Be sure that your

mechanisms account for the given product .

&2

o View Text Solution



https://dl.doubtnut.com/l/_9WVhQkfKGxmg
https://dl.doubtnut.com/l/_qIBSqb5n8ksl

43. Write a detailed mechanism for the
following reactions Be sure that your
mechanisms account for the given product .

L.

L

o View Text Solution

44, Write a detailed mechanism for the
following reactions Be sure that your
mechanisms account for the given product .

L

L

| & I


https://dl.doubtnut.com/l/_yGzy5wQwAMzI
https://dl.doubtnut.com/l/_0UzfLA5oAMiz

| ¥ View Text Solution |

45, Write a detailed mechanism for the
following reactions Be sure that vyour

mechanisms account for the given product.

&2

o View Text Solution

46. Briefly explain why BH3 and Hg(Oac), are

electrophiles.

o View Text Solution



https://dl.doubtnut.com/l/_0UzfLA5oAMiz
https://dl.doubtnut.com/l/_a37M2b2aJdFz
https://dl.doubtnut.com/l/_HKS8oto5C9Lu

47. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_HKS8oto5C9Lu
https://dl.doubtnut.com/l/_1xZBVY6lIG5p
https://dl.doubtnut.com/l/_BMig97cBnjsC

48. Provide the organic product for the
following reaction. If more than one products
are possible , indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L

L

o View Text Solution



https://dl.doubtnut.com/l/_BMig97cBnjsC

49. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_LwwVkKpBIWOE

50. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_nbvSCPpItyXF

51. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_qGk7L4u7p4BN

52. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_5YkyrJkSNA0m

53. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_zdqVAqeJ0M8P

54. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_8cw8czDKfuar

55. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_41KlUJeID6aI

56. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_HGJQrmDVsFXr

57. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_1Eo7MBDGOpBv

58. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_sjluJ4IzbnFh

59. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_3w5pB3K6UfOr

60. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_RArE56HNwNAY

61. Provide the organic product for the
following reaction. If more than one products
are possible, indicate which product (if any) is
the major one . If no reaction occurs, write
"NR" . Pay careful attention to the
stereochemistry of the reactants and
products.

L.

L

o View Text Solution



https://dl.doubtnut.com/l/_SNuyh20Jn5fU

62. List two significant similarities between
alkenes and alkynes. Clearly illustrate each

similarity with a figure or reaction.

o View Text Solution

63. List two significant differences between
alkenes and alkynes. Clearly illustrate each

difference with a figure or reaction.

o View Text Solution



https://dl.doubtnut.com/l/_4Jn92XHMoWg0
https://dl.doubtnut.com/l/_CdXB2MJZmg11

Additional Objective Questions Single Correct

Choice Type

1. What is A in the following reaction?

(H—CH=CH,

+ HUl — — A

U1, — CH= O,


https://dl.doubtnut.com/l/_N4AtGG6O04CH

I:'H_.—El’H -CH,

R
V s

il
I
CH—OH, O,

/L_\ I

[* ““‘-m: i

-
D. ~~
.

Answer: C

° View Text Solution

2. Ozonolysis of an unknown compound gave
CHy; = OCH3CHO and CH3COCHO
What is the possible structure for the

unknown compound ?


https://dl.doubtnut.com/l/_N4AtGG6O04CH
https://dl.doubtnut.com/l/_lD9vFWtt4gyH

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_lD9vFWtt4gyH

3. The product(s) obtained via oxymercuration

(HgSO,4 + HyS0y) of 1-butyne would be

A.CH; — CH, — C — CH,
I
O

B.CHy3 — CHy — CHy — CHO
C.CHy3 —(CHy; — CHO + HCHO

D.CH3 — CH, — COOH + HCOOH

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_QwG6jyFn8ZtK
https://dl.doubtnut.com/l/_pnkw4w5qTR38

4.Find the product (s) :

Fiml the proghuct(s):

e Koty comirolled «
s | et rve st seec w
CCL controled prrcchects
KC. -w& LTC ‘qj/
Al B

B. O:,J\
(LT

C. 1

Nesieer

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_pnkw4w5qTR38

5. Propyne and propene can be distinguished

by

A. conc. H,50,

B. Bry in CCl,

D. AgNOj; in NH;

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_TUHbinTupDwa
https://dl.doubtnut.com/l/_uHgyGJusLstu

6. Hydrogenation of the following compound

in the presence of poisoned palladium catalyst

gives
Hl:
Mo !
H
|
Mc
H

A. an optically active compound

B. an optically inactive compound.

C. a racemic mixture


https://dl.doubtnut.com/l/_uHgyGJusLstu

D. a diastereomeric mixture

Answer: B

o View Text Solution

7. Give the major product (s) of the reaction

shown :

CH,
I—11

Electrophihic sddston



https://dl.doubtnut.com/l/_uHgyGJusLstu
https://dl.doubtnut.com/l/_zI1kHgYoQ4up

Answer: A

° View Text Solution

8. The reaction of propene with HOCI proceeds

via the addition of


https://dl.doubtnut.com/l/_zI1kHgYoQ4up
https://dl.doubtnut.com/l/_kho0c2HZGIsz

A.H™ in first step
B.Cl™ in first step
C.OH " in first step

D.Cl™ and OH ~ insingle step

Answer: B

o View Text Solution

9. Choose the correct order of reactivity (most
reactive on the left) for the following alkenes

with HI :


https://dl.doubtnut.com/l/_kho0c2HZGIsz
https://dl.doubtnut.com/l/_rcr9ExMxANZv

Answer: D

° View Text Solution

10. For the following reaction , the product P is


https://dl.doubtnut.com/l/_rcr9ExMxANZv
https://dl.doubtnut.com/l/_SgYUJWDvh1pP

C. Oy Hy — ? — CHCH,
OH

D.CyH; — CH = ‘c _ CH,
OH

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_SgYUJWDvh1pP

11. An unknown compound was treated with
ozone followed by (C'Hj),S and the followign

product was obtained.
o .
| R |

[.}Y\&___.-" i _h_f.*‘ -'-_.\_-_,_;-F'- T'j

H H

Which of the following compounds might have

been the unknown ?

=
(i) @3 (in) |

(it}

(1v)

SO0y
(0


https://dl.doubtnut.com/l/_sIfX45nZcW9m

A. (i)

B. (ii)

C. (i) or (iii)

D. (ii) or (iv)
Answer: C

° View Text Solution

12. 2-Hexyne can be converted into trans-2-

hexene by the action of


https://dl.doubtnut.com/l/_sIfX45nZcW9m
https://dl.doubtnut.com/l/_0oQbbYoQKKMm

A. H2 — Pd — BGSO4

B.Liin lig. NHj

C. H, — PtO,

D. NaBH,

Answer: B

° View Text Solution

13.CH; — CH = CH, + NOCI — P

Identify the adduct P.


https://dl.doubtnut.com/l/_0oQbbYoQKKMm
https://dl.doubtnut.com/l/_cbTpyDAQ5iOq

A CH, — |(JH— |(]H2

Cl NO
B.CHs — C H — CH>
veo @
C.CH; — CHy — CH
¢
D. C H, — CHs — CH>
]\|TO |C'l

Answer: A

o View Text Solution

14. The Hydroboration-Oxidation

produces a addtion

reaction


https://dl.doubtnut.com/l/_cbTpyDAQ5iOq
https://dl.doubtnut.com/l/_DnZnjTO0IOTu

A. Markovnikov

B. Anti-Markovnikov

C. Syn addition

D. (b) and (c)

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_DnZnjTO0IOTu

Cohd KANO ACVE

¢

f\ff\
Hot KM,
L —+H+C

15.

A, B and C are respectively are

C. ,/ﬁ‘ /\(U-m.—mou

0 0
/\P\. /\rf CCHCHO
D b
.

Answer: C

| s


https://dl.doubtnut.com/l/_fwTaJI5I5gIr

[ & View Text Solution ]

16. Find out the X (reactant) of the given

reaction :

0, O 0

——y i'l-!{'! WIIH]
Fn )

D. All of these


https://dl.doubtnut.com/l/_fwTaJI5I5gIr
https://dl.doubtnut.com/l/_dpxiqipzaUtR

Answer: A

o View Text Solution

17. Which one of the following compounds

does not form an ozonide ?

A. Ethane

B. Propyne

C. Propene

D. Propane


https://dl.doubtnut.com/l/_dpxiqipzaUtR
https://dl.doubtnut.com/l/_IRXpH8jPZ4Py

Answer: D

o View Text Solution

18. Which of the following produces a chiral
molecule after treatement with Lindlar's
catalyst ?

e

A.


https://dl.doubtnut.com/l/_IRXpH8jPZ4Py
https://dl.doubtnut.com/l/_TZueuQqGJ1fB

e

S

Answer: C

° View Text Solution

19. Ethylene reacts with Baeyer's reagent to

give

A. ethane


https://dl.doubtnut.com/l/_TZueuQqGJ1fB
https://dl.doubtnut.com/l/_fuIhRnZWdWQA

B. ethyl alcohol

C. ethylene glycol

D. none of these

Answer: C

o View Text Solution

20. The value of x is

B
Cis -2-butene l) (x) products
CCl,

A.O


https://dl.doubtnut.com/l/_fuIhRnZWdWQA
https://dl.doubtnut.com/l/_hDobi6i1fReX

B.1

C.2

D.3

Answer: C

o View Text Solution

21. In which of the following alkenes will a

hydrogen shift occur upon addition of HCI ?

ey —’L

A.


https://dl.doubtnut.com/l/_hDobi6i1fReX
https://dl.doubtnut.com/l/_JxCL8ulobznb

Answer: D

o View Text Solution

22. In which of the following reaction ,

formation of racemic mixture occurs ?

A //2/ o


https://dl.doubtnut.com/l/_JxCL8ulobznb
https://dl.doubtnut.com/l/_YN8XU0SIpvvN

B /="‘\ coid KMa(),

CH
i}_ H

C. (H

M CH

i '
H:
d - ﬁ_‘
D OH

Answer: C

o View Text Solution

23. The  major products  obtained

R, Ry and R3 in the following reactions,


https://dl.doubtnut.com/l/_YN8XU0SIpvvN
https://dl.doubtnut.com/l/_Wgm13ZO90kmE

respectively is



https://dl.doubtnut.com/l/_Wgm13ZO90kmE

I o View Text Solution

24. The compound most likely to decolorize a

solution of potassium permanganate is

A.CH3(CHs

, GO0

C.CH3CH = CHCH,CH;j
CH;

|
D. CH, ’0 — CH,

CH;

Answer: C
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25. In which of the following reactions ,

diastereomers will be formed ?

. O

Br
@ By,
i,
C.

D. All of these
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Answer: D
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Additional Objective Questions Matrix Match

Type

1. Match the following

Cohama | Coluammun 11

(up CH OO =0, (P} cis-product with M,/ Pi-Bas0),
jhp H - CH st T i) rem-product with Nadig NH,
o) CH,—C=CH ry whate with amm. AgNOy,

1dy CH,—C=( —Er (8) H, gas with Na
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2. Match the following

Column | Colama 11 Cobama 111

Reacthon Nature aff products formed Nmmber of chiral center present in product.
(Consbder anly nne isomer i coe of racemic
meivture of dissterevmer)
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